MADE IN
(sPAIN

Highway bar mounting instructions

Motorcycle with engine cover

- Top: The highway bar must be fixed in the anchorage of the frame marked with arrow in the
image. The M8x90 screw and a 20x8x8.5 bushing will be used. The bushing must be placed on
the right side of the highway bar between the chassis and the plate. Fix with the nut included
in the kit.

- Bottom: The bottom part of the engine protector is fixed to the sump cover anchor indicated
with the arrow in the image and the original screw will be used for this.




Motorcycle without engine cover

- Top: The item plate must be fixed in the anchorage of the frame marked with arrow in the
image. The M8x80 screw and the M8 nut from the kit will be used for this.

- Bottom: It is fixed to the frame anchor indicated with arrow in the image. The M8x110 screw
and the M8 nut from the kit will be used for this.




